
In the following “line n” means the nth line from the top of the indicated paragraph. Line 
−n means the nth line from the bottom of the page. 

My thanks to Professors Dan Tamir and John Woods for pointing out several of the errors. 

• Page 16, Equation (2) 
n 
1 Hn should be Hn. 

• Page 50, Paragraph 2 line 9: [2,01,1,1,3,000, 4, 0010, 5, 0011] should be [2,01,1,1,3,000,4,0010,4,0011]. 

• Page 50, line -8: (the longest codeword) should be (the length of the longest codeword). P • Page 51, line 6: i
m 
=1 li 

• p.76 Table 3.22: 

Codeword for n=0 
Codeword for n=1 
Codeword for n=2 
Codeword for n=8 
Codeword for n=9 
Codeword for n=10 
Codeword for n=11 
Codeword for n=12 

P m 2−lishould be .i=1 

0000 should be 000 
0010 should be 001 
0100 should be 010 
101100 should be 10110 
101110 should be 10111 
110000 should be 11000 
110010 should be 11001 
110100 should be 11010 

• Page 78, para 2, line 7: 111011 should be 111001. 

• Page 80 line 3: ... from N to N(N − 1) should be ... from N to N + (N − 1). 
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